NOTES:

1. IMPACT RESISTANT GLAZING (DETAIL H) = IMPACT
_RESISTANT GLAZING SYSTEM MAY BE INSTALLED IN
"TOP OR- INTERMEDIATE SECTION .(WITH OR WITHOUT
DECORATIVE INSERTS). GLAZING SHALL BE 1/4"
MAKROLON—AR POLYCARBONATE OR EQUAL. GLAZING
SHALL HAVE A MAXIMUM HEIGHT OF 15.21" AND A
MAXIMUM. LENGTH OF 50.08" SCREWED TOGETHER
WITH: & MINIMUM OF .(10) #8X1™ SCREWS ({3 ALONG
‘EACH HORIZONTAL LEG AND {2) ALONG EACH
VERTICAL LEG). GLAZING IS IMPACT RESISTANT AND
DOES MEET THE REQUIREMENTS FOR WND--BORNE.
DEBRIS REGIONS. GLAZED SECTION REQUIRES
REINFORCEMENT BRACKETS ATTACHED TO U-—BAR ON
UPPER INTEGRAL RIB (SEE DETAIL .J- SHEET 2),. 20
GA J—=STRUT SCREWED TQ LOWER INTEGRAL RIB OF
SECTION AND OPERATOR STILE TO. BE FACTORY
INSTALLED. . INSTALLER SHALL FIELD ‘INSTALL {3)
1/4-14x7/8" SELF DRILLING CRIMPTITE SCREW 1O
ATTACH -THE ADDIMIONAL STRAP ‘BRACKET TO THE.
J—STRUT AND OPERATOR STILE AT THE CENTERLINE
OF THE DOCR PER DETAIL F ON SHEET 2.

2. VINYL OR:WGCOD DOOR STOP NAILED A MAXIMUM
OF 87 0.C. MUST OVERLAP YOP AND BOTH ENDS OF
PANELS MINIMUM. 7/16" TO MEET NEGATIVE
PRESSURES.

3 KEY LOCK OR SUDE LOCKS REQUIRED.

4; SECTION SHALL BE CONSTRUCTED WITH FOAMED IN
PLACE POLYURETHANE FOAM INSULATION CHEMICALLY
BONDED TO 30 GA MINIMUM FACER STEEL AND A
POLYLAMINATE OR 32 GA STEEL BACKER. END CAF
TO HAVE A MINIMUK 1.4 DEPTH..

§. THE DESIGN OF THE SUPPORTING. STRUCTURAL

ELEMENTS SHALL BE THE.RESPONSIEILTY OF THE

FROFESSIONAL OF RECORD FOR THE BUILDING OR

STRUCTURE AND N ACCORDANCE WITH CURRENT

WM_E_ZD COOES FOR THE LOADS USTED ON THIS
AWING.

& DOCR JAME TO BE MINIMUM 2x6 STRUCTURAL
GRADE LUMBER. REFER TO JAMS CONNECTICN
SUPPLEMENT FOR ATTACHMENT TO SUPPORTING
STRUCTURE:

7. LOUVER CPTION (DETAIL 1} — .08" MINIMUM
LOUVERS N MOLDED FRAMES, 197X13.9" (DLO=1%
1/2"%°10.1/2"), SCREWED TOGETHER WITH A
MINIMUM OF (12) #8x1* SCREWS ((3) ALONG EACH
HORIZONTAL LEG AND. {3) ALCNG EACH VERTICAL
LEG), LOUVERS. ARE NOT IMPACT RESISTANT AND DO
NOT MEET THE REQUIREMENTS FOR WIND-BORNE
DEBRIS REGIONS. LOUVERS ARE ONLY INSTALLED IN
THE BOTTOM SECTION. LOUVERED SECTION REQUIRES
OPERATOR. STILE TQ BE FACTORY INSTALLED AT THE.
CENTERLINE OF THE DOOR.

13 GA HORIZ ANGLE—

13" GA FLAG ANGLE—|

16 GA MIN HORIZ—||

TRACK

5/16x1-5/8"\|
LAG. SCREWS
(MiN 3. AS
SHOWN)

16.GA MIN VERT—
TRACK

5/18x1-5/8" L AG—
SCREW AT EACH
JAMB BRACKET

1/4-20x9 116" TRACK—]
HOLT AND 1/4—20 HEX
NUT AT EACH JB JAME
BRACKET LOCATION:

15 GA STIFFENED]
JAMB BRACKETS
SEE SCHELDULE FOR
QUANITY, LOCATION,
AND TYFE

KEY LOCK OR SLDE LOCK—]
BOTH ENDS (SEE NOTE 3).
SUDE LOCK .SHOWN FOR
CLARITY

NOTE: . (4} SECTION
SOLD DOOR -SHOWN.
SEE' SHEET 2 FOR
U—BAR LOCATIONS ON
DOORS WITH GTHER:
SECTION QUANTITIES:

AND SEE NOTE 1 ON ™
THIS SHEET FOR.
GLAZING OPTIONS:

SEE. U~BAR NOTE ON SHEET
2 FOR U~BAR INSTALLATION

REVISIONS
F1 ADDED SUPERIMPOSED

DESIGN. PRESSURE LOADS
SUPFORTING
[STRUCTURE: AND. CLARIFIED
NUMBER OF FASTENERS
AND CENTER HINGES
.[REGUIRED FOR- NARROWER
== DOOR WOTHS,

4 MRB 5/10,/06

P2 ADDED IMPACT

RESISTANCE TO DDOR..

. |ADDED- JB. JAMB BRACKET
._. 2" LOCATION. ADDED.

R mm_m;zﬁ.

P4 ADGED IMPACT
[RESISTANT GLAZING.

95 UPDATED TME BLOCK

REVISION ﬂmot z_.__z__mm“o

IL
. -
[GRT 5/4/10
_ 95 ER31223 _
3 [cHANGED DOOR MODEL .
e INUMBERS, AND BACKER
- MOTES . o
SC 6/7/2017
REV E — UPDATED .
— TO ALHPA

= [1LC 092920

NOTE;  {5) CENTER HINGES PER JOINT
REQUIRED ON DOOR WIDTHS GREATER THAN
$2°—0". (3) CENTER HINGES PER JOINT

REQUIRED ON DOCR WIDTHS LESS. THAN OR.

ol B BEV F — DRAWNG
> I B2 UPDATES FOR TOI
Fe e 3/23/21

REV 6 — DRAMNG
UPDATES FOR TDI
TL.C 4/20/21

NOTE:. POST SYSTEM IS TO BE
INSTALEED ON THE CENTER
LINE OF THE DOOR. SEE:
WINDLOAD POST INSTALLATION
INSTRUCTIONS.

JAMB BRACKET SCHEDULE - - EQUAL 10 -12'-0%
) N0, OF JAWE _ LOCATION OF CENTERLING OF JAM
DOCR | NO. OF 4 BRACKETS ﬁ%mx BRACKETS MEASURED FROM BOTTOM
HEIGHTISECTIONS[(Fac JaMB) OF TRACK (ALL DIMENSIONS £ 2°)
70| 4 5 @ P (), 15 (@), 25-1/2" (98), 45-174" (Ql), 65 (8)
| #'-0° 4 5 FAT P (48) 0" (JB), 25-3/4" (48), 42" (4B), 63-1/4" (uB)
3 _ _ _ §—0" | 4 OR 5 8 al_P- {4B), 13" (Q), 29._(J8), 3¢ (IB), 47174 (a0, 67" (Q)
COMPLIES WITH THE REQUIREMENTS OF IBC/IRC 2018 g-0" |4 CR S g FAT - (8B), 10" (IB), 21—5/4" (JB), 20—3/4" (JB), 48" {JB), 66" (JB)
g, HIGH LIFT/RCOF_PITCH SEE NOTE BELOW
L ™M NOTE..
\I»ﬂmo_uﬂmu_% W (JB) FOLLOWING DIMENSION . DENOTES ‘SLOTTED JAM@ BRACKET ATTACHED TQ TRACK WITH 1/4=20x8/16" TRACK BOLT AND NUT.
AN e {Ql} FOLLOWING DIMENSION DENOTES QUICK INSTALL JAMB BRACKET INSTALLED N BUTTERFLY SLOT. NO ADDITIONAL HARDWARE NEEDED TO ATTACH TO TRACK.
Fx % ey ALL DOORS WITH HIGH. LIFT AND/OR ROOF PITCH REQUIRE USE OF CONTINUGUS WALL ANGLE. SEE SUPPLEMENT TRACK CHART FOR DETAILS.
L kA
Zoxi T e XY - . .
7 A SUPERIMPQOSED DESIGN PRESSURE
_“_....,Ezmu._.m,zm.@_mm_ y LOADS ON SUPPORTING STRUCTURE
Y oo 130813 &7 MAX | WAX | UNIFORM _ [FOINT.LOAD AT HEADER AND _
() Qomzmm.o .- A.me\\ O0OR | DOOR | LOAD EACH SLAB. AT EACH POST : I —
:.\w/ ...... %.O/.\l WIDTH | HEIGHT | JAMS {PLF). " LOCATION {L.BS} STATIC PRESSURE RATINGS: APPROVED SIZES-  |SCALE: N.T.S. SIZE: A
Juifemy (aa /ﬁoz>rm = 1g—o-] Z=0 {FIST.0/-2080  +1497.3/510022 <=m DESIGN (FSFy: ___ +35.20/—43.70 __[MAX WiDWH: __ 160 DATE NAME
4 J e = ﬁmwuﬁwmwu waw.wmlaﬂmﬁ__ = TEST (PSF): +58.80/—65.55  |MAX HEIGHT:  8—0"  IDRAWN. | 3/3/06 GRT
\wo\ et 40 e |F157.0/-308.0]  +1429.2/-1593.2 Um_.nos IMPACT/CYCLIC RATED (YES/NO): YES [MAX SECTION HEIGHT: 24"[CHECKED| 4/2G/21 ne
5728 AMPHORA. AVE \pr_gr |_7=0"_[+167.0/-208.0]  +1D78.0/=1201.7 GARAGE DQOORS MODELS 5120 /51 hm\w‘_oo\ohom.\m_moo SHEET 1 OF 3
MCKINNEY, TEXAS 75070 80" [#157.0/=20B.0] _ +1925.0/-1365.:6 ! RAW
TEXAS'PE 130813 T—0"_|§157.0/-208.0 _ +5%8.5/-1001.5 * gsmo%umomw.moﬁm%,pmx_o(omom CORP— — DRAWING PART NO. | REV.
PROFESSIONAL ENGINEER'S FROVIDED DNLY FO 100" ——= TYACTTN T . Al SPECIFIC \ YODE ; 20y :
TOEESSINAL ENGNEERS SeAL oDty FoR &-07 [+157.0/-208.0  +i1020.8/—1138.0 _umzm,wmom%_pwﬂowmwwuumuz WINDLOAD SPECIFICATION OPTION CODE 0604 319030 G




13 GA ADJISTABLE TOP
FIXTURE ATTACHED TO
PRE—PUNCHED HMOLES.
IN BOTTOM OF U-BAR
WITH (2) 1/4=14x5/8"
CRIMPTITE SGREWS

13 GA ROLLER SUDE ATFACHED TO
PRE-PUNCHED HOLES IN TOP OF U-BAR
WTH (2) 1/4—14x5/8" CRIMPTITE SCREWS.
USE VIEWNG HOLE.IN SUDE TO ENSURE
PROPER ALIGNMENT OF ROLLERS

15 BA_ HINGE ATTACHED
WITH (4) 1/4~14x5/8"
CRIMPTITE SCREWS _nm oF
WHICH ARE _..>o._.0m4. -
ATTACHED) -

2™ NYLON:
STORMGARD ROLLER
WTH 4-1/2" STEM

18 GA HINGE ATTAGHED
WTH (5) 1/4—20x5/8"
CRIMPTITE. SCREWS (2, OF
WHICH ARE FACTORY
_ATTACHED, 3 -OF WHICH
ARE FIELD INSTALLED INTO
“TOP LEAF, AND: 1 .OF
WHICH IS FIELE INSTALLED
THRU PRE—PUNCHED HOLE

12 GA BOTTOM BRACKET
FACTORY ATTACHED WITH
{3) 1/4-14x5/8"

CRIMPTITE SCREWS:

DETAIL D

.......... sersaataaii

1\91 L
4 Wu\wﬁw‘._ RINFENG QHAN
’ 5729 AMPHORA AVE

MCKINNEY, TEXAS. 75070°
TEXAS-PE 130813

FROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR'
YERIFICATION -OF WINDLDAD CONSTRUCTION DETAILS..

PLACE U-BAR OVER INTEGRAL RIB
WTH THE. (B) PRE—PLINCHED

HOLES EACH END FACING UFWARD
AND ATTACH THRU END CAP AT

EACH END WITH {2) 1/4—14x7/8"

SELF DRILLING CRIMPTITE SCREWS
[FOR. STANDARD TRACK AND (3)

1/4—14%7/8" SELF DRIELING -

CRIMPTITE SCREWS FOR LOW

HEADROOM . TRACK {2 OF WHICH

ARE USED TO. ATTACHED THE .wO.u
BRACKET AS SHOWN).:
PLACE U-BAR OVER INTEGRAL

‘RIB WITH THE (8) PRE—PUNCHED

HOLES EACH END FACING UPWARD
AND ATTACH THRU END CAP AT

EACH END WITH {2).1/4—14x7/8%

SELF DRILLING CRIMPTITE SCREWS

EXCEPTION: . U—8AR PLACED
GVER TOP RIB ON THE BOTTOM

SECTION SHALL ONLY BE_

ATTACHED THRU END CAP AT .

[EACH END WITH (1) 1/4—14x7/8"

SELF ORILLUNG CRIMPTITE SCREW
LOCATED ON THE BOTTOM _u_ubzmm

OF THE U-BAR

NOTE:, DUE TO CLEARANCES
REQUIRED TO INSTALL SCREWS AT
THE ENDS OF THE U-BARS, ALL
—BARS SHALL BE INSTALFED ON
SECTIONS PRIOR TO INSTALLING
ROLLER SLIDES AND TOP FIXTURE
ON THE U~BARS. SEE
ATTACHMENT NOTES ON THIS
SHEET.

PLACE U~BAR OVER INTEGRAL
RIB AND ATTACH WITH (2)
1/4—20x5/8" CRIMPTITE  SCREWS
THRU -FRE—PUNCHED HOLES AT
EACH INTERMEDIATE HINGE
LOCATION (1 THRU FLANGE OF
U-BAR- AND BOTTOM HINGE LEAF
AND 1 THRU WEB OF L-BAR AND
INTEGRAL, RIB OF SECTION)
EXCEPTION: AT ALL LOCATIONS
REQUIRING A. STRAFP BRACKET, (1)
1/4—14x7/8" SELF DRILLING
CRIMPHITE SCREW WLL BE USED.

PLACE U~BAR OVER INTEGRAL RIB:
WTH NOTCH DOWN TO CLEAR
BOTTOM BRACKET AND ATTACH
THRU END CAP AT EACH END WITH
{1} 1/4~14x7/8" SELF DRILLING
CRIMPTITE SCREW. AS SHOWN AND
USE (1) 1/3~1427/8" SELF
DRILUING. CRIMPTITE SCREW ACROSS
THE BOTTOM.OF THE BOTTOM
U—BAR AT EACH PRE—PUNGHED
HOLE AT EVERY MINGE LOCATION.
USE (1) 1/4—20x5/8" CRIMPTITE
SCREW AT ALL. OTHER
PRE—PUNCHED HOLE LOCATIONS.

LOW Imbomooz TRACK

13 GA ADJUSTABLE
TOP FIXTURE

HEADER LOCK’
BRACKET:

GA REINFORCEMENT .

“THROUGH BOTH

DETAIL A

USED ONLY OR IMPACT
GLAZED SEGRION — 11

. __mw 5/18x1-5/8"
o,/ G SCREWS-
A s D l-

T ATTACHED
BRACKET ATTACHED r.....lll. m\auaxnl_\m

WiTH (4) 1/4—14x7,/8"7
SELF DRHLING
CRIMPTITE SCREWS (2

BRACKET AND U-BAR}-
RDETAIL J

(3Y 1/4~14x7 /8" SELF DRILLING CRIMPTITE
SCREW THRU ADDITIONAL STRAP BRACKET,
J-STRUT & OPERATOR BRACKET,

NOTE; ADDITIONAL STRAP BRACKET, J-STRUT,

OPERATOR BRACKET, & SCREWS ONLY REQUIRED
ON IMPACT GLAZED SECTIONS. SEE NOTE 3

TAI

ADDITIONAL STRAP

5/16-18x2=1/2"
HEX BOLT & NUT
{#) 5/16-12"
SELF DRILLING
SCREWS

80 K3l U—BARS
LOCATED. OVER
“INTEGRAL RIBS AS

SHOWN - )
|/./

(4) SECTION DOORS
WTH (5} 3", 20 GA;

: BRACKET
M._mew hl e 80 K3l U—8ARS'
3) 174=14x - — LOCATED OVER
SELF ‘DRILLING (1) 1/a-13x7 /8" SELF e — INTEGRAL RIES AS' W
CRIMPTITE SCREWS SRREW EACH SDEOF . < SHOWN—w_
STRAP BRACKET (ONLY . i /,
STRAP REQUIRED ON IMPACT . —0
BRACKET GLAZED DOOR)} \ : i
8/ 2500 PSI MIN - e 1
18" OCKING: ~ CONCRETE———Se | |2 3o~
HITCH PIN : STRAD ﬂ T
. B X 8" MIN -l av
o . [~ TURNDOWN  + e
{2) u\._m...._Mx_ . SLAB AT EDGE— 6" MIN )
mm_lm' D_M_EZQ ) L~ N EDGE .
SCREWS W/ 5/16 L N bisTANce .
FLAT WASHERS —A - RSN
DETAIL F CONCRETE DETAIL !
‘- L ‘U—BAR ATTACHMENT NGTES [
. ALUMINUM
. POST 1. ALL U-BARS SHALL BE PLACED OVER INTEGRAL RIES. AND
i ATTACHED THRU PRE~PUNCHED HOLES WTH (2) 1/4=14%5/8"
121331 /2" : CRIMPTITE SCREWS AT EACH INTERMEDIATE - HINGE LOCATION,
HEX BOLT & NUT / (2) 1/4-14x7/8” SELF ORILLING CRIMPTITE SCREWS AT EACH
END CAP (EXCEPT BOTH. U—BARS ON BOTTOM SECTION — .SEE
DETAIL B AND D “THIS ‘SHEET), (2) 1/4~14x5/8" CRIMPTITE
SGREWS APPROXIMATELY MIDWAY BETWEEN END OF DOOR AND
INTERMEDIATE HINGE LOCATION, AND (1) 1/4=14x5/8"
CRIMPTITE SCREW APPROXIMATELY 8 FROM EACH END. FOR h
(4] 5/16-121" DOOR: WIDTHS: GREATER ' THAN 12'—0", THERE SHALL BE A 1
SELF am_Ezm BOTTOM TOTAL OF {20) SCREWS ATTACHING EACH U—BAR EXCEPT BOTH
SCREWS LOCK U-BARS ON BOTTOM SECTION SHALL HAVE A TOTAL OF (18)
PLATE SCREWS EACH. FOR DOOR WIDTHS LESS THAN OR EQUAL TO

12'=0%, THERE SHALL BE A TOTAL OF (16}, SCREWS ATTACHING
EACH U-BAR EXCEPT BOTH U—BARS ON BOTTOM SECTION
"SHALL HAVE A TOTAL OF {14} SCREWS EACH.

2. WTH THE EXCEPTION OF THE (8) PRE—PUNCHED HOLES IN
THE TGP OF ‘EACH END USED FOR: ATTACHMENT OF THE

ROLLER SLIDES.AND- THE (&) PRE—PUNGCHED HOLES I THE. N
BOTTOM OF EACH. END USED FOR- THE ATTACHMENT OF THE i
TOF FIXTURE AND UNLESS NOTED OTHERWSE ON THIS. .

SPECIFICATION DRAWING, ALL PRE-PUNCHED HOLES IN'AtL .
U-BARS SHALL BE'ATTACHED TO THE DOOR WITH 1/4—14x5/8"
‘CRIMPTTE - SCREWS.

3, 20. GA U-BARS SHALL BE STAMPED "34" APPROXIMATELY &
FROM EACH END.

(5) SECTION DOORS.
WITH (6) 3", 20 G4,

REVISIONS

"'”'ﬁ"""""'ﬁ"

.

o

&

‘STATIC PRESSURE RATINGS APPROVED SIZES  |SCALE: N.T.S. SIZE: A

<=m |DESIGN (PSF): +39,20/~43.70  [MAX WDTWH:  16/—0" DATE | NAME

[T} TEST (PSF); +58.80/—-65.55 MAX HEIGHT;  8-0" DRAWN 3/3/06 GRT
Um_.ﬂo : IMPACT/CYCLIC RATED {YES/NO): YES |MAX SECTION HEIGHT: 24"|CHECKED| 4/20/21 e

GARAGE DOORS

MODELS 5120,/5145 /9100 ,/9405/9600

SHEET 2 OF 3

A DIVISION OF OVERHEAD DOOR CORF
3395 ADDISON DRIVE
PENSACGLA, FLORIDA 32514
{850) 474—9890

WINDLOAD SPECIFICATION OPTION CODE 0604

DRAWING. PART NO. | REV.
319030 G




L0B0" (MIN). ALUMINUM
LOUVER

\|_z§_om___"m>zm.

B—34" SELF—TACPING
REW

EXTERIDR
FRAME: .
PLASTIC: FRAME

NON-IMPACT LOUVER

(STATIC RATED)
DETAIL 1

F 20 B, e
Zo* 3 ok -\
> k0 : Lok

% JUNFENG QAN

“ .wn\wup;.. JUNFENG GlAN

5729 AMFHORA AVE
MCKINNEY, TEXAS 75070
TEXAS PE 130813

PROFESSIONAL ENGINEER'S SEAL PROVIDED OHLY FOR
VERIFICATION CF WANDLOAD ‘CONSTRUCTION ‘DETALS.

#8x3/4" MIN STAINLESS
SCREWS WiTH STAIMLESS

BACKED RUBBER WASHERS

3-1/2" 0.C: MAX

1/8" BEAD OE el

ULTRAGLAZE
SSG4000AC
STRUCTURAL

REVISIONS

NON~STRUCTURAL DECORATIVE
OUTER WINDOW TRIM

~1/4" POLYCARBONATE.

NON—STRUCTURAL,
DECORATIVE. INNER
WINDOW TRIM:

DETAIL. H

GAR

A DIVISION OF OVERHEAD DOOR CORF
3395 ADDISON -DRIVE
PENSACOLA, FLORIDA 32514
(850) .474—9850

STATIC PRESSURE: RATINGS APPROVED SIZES  |SCALE: N.T.S. SIZE: A
DESIGN {PSF): +39.20/-43.70 MAX WIDTH: 16'—0Q" DATE NAME:
TEST (PSF): +58.80/~65.55 MAX HEIGHT: g-a" DRAWN 3/3/086 GRT
IMPACT/CYCLIG RATED (YES/NO): YES IMAX .SECTION HEIGHT: 24" |CHECKED| 4/20/21 e

MODELS 5120/5145/9100,/9405 /9600 SHEET 3 oF 3
— . - — . DRAWING PART NO. | REV..
WINDLOAD SPECIFICATION OPTION CODE 0604 319030 &




